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DO YOU REMEMBER?

If you have read the Wall Street Journal from October 18th to 22nd  you should be able to answer the following questions based upon important articles relating to economics. The reference at the end of the answer tells you the date and page number where you can find the article upon which the question is based. 
1. Which of the following two economists thinks of himself as a behavioral economist—Eugene Fama or Richard Thaler? Click for answer.
2. How might the shortage of flu vaccines affect the U.S. economy in the near-term? Click for answer.
3. According to Fed Chairman Alan Greenspan, by how much have? higher oil prices slowed the U.S. economy—not at all, 0.75 percentage points, 1.5 percentage points, of 3 percentage points?  Click for answer.
4. Name one of the two economists who received the Nobel Prize in economics last week.  Click for answer.
5. How have high-protein diets that have led people to eat more beef also indirectly boosted consumption of pork?  Click for answer.
6. Which soda company has 50 percent of the EU market: (a) Coca-cola, (b) Pepsi, (c) Schweppes. Click for answer.
ANSWERS TO “DO YOU REMEMBER?” QUESTIONS
1. Richard Thaler. (See “As Two Economists Debate Markets, The Tide Shifts” October 18, page A1.)
2. It will lower productivity, and therefore short-term growth because more people will miss work either because they contract the flu or are taking care of family members with the flu.  (See “Flue Season Threatens Productivity” October 18, page A2)
3. 0.75 percentage points. (See “Consumers Remain Economic Engine Despite Oil Threat” October 18, page A2)
4. Edward Prescott or Finn Kydland. (See “How a Nobel Laureate Sees the Economy” October 18, A2) 
5. Increased consumption of beef has led to higher steak prices. Higher steak prices has also led other consumers to reduce their consumption of beef and switch to pork. (See “Latest Diet Fad Helps Put Hog Farmers in Fat City” October 19, page A2)
6. Coca Cola. (See “Coca-Cola, EU Agree To Settle Antitrust Case” October 20, page A15)
How Nobel Laureate's Views Fit In Today
By JON HILSENRATH 
Staff Reporter of THE WALL STREET JOURNAL
October 18, 2004; Page A2
Last week the Royal Swedish Academy of Sciences awarded the Nobel Prize for economics to Edward Prescott , a professor at Arizona State University and a researcher at the Federal Reserve Bank of Minneapolis, and to his longtime collaborator, Finn Kydland of the University of California at Santa Barbara. The professors were lauded for research calling into question traditional "Keynesian" theories related to economic booms and busts. They also wrote pioneering work called the "time consistency" theory, which explained how short-sighted thinking can prompt government policy makers to make long-run mistakes on issues ranging from disaster assistance to patent protection to inflation fighting. In an interview, Mr. Prescott discussed how his views fit in with some current economic issues.

1. What are Keynesian theories? What is the “time consistency” theory? (Look these up in your textbook or on the Internet).
WSJ: Your work on time consistency suggests that federal disaster assistance can be counterproductive in the long run. Can you explain whether it was a good idea or bad idea for Washington to pledge $15 billion in disaster relief to Florida and the Southeast in the aftermath of the hurricanes?
Prescott: In these cases, providing disaster assistance is good policy because the losses are not the result of moral hazard. By this I mean that these losses do not occur because of a lack of due diligence. Building codes ensure that houses are properly constructed, thereby eliminating the moral-hazard problem. The bottom line is that moral hazard played little role in Florida in determining the size of the losses. Therefore, disaster relief is good policy as it provides social insurance.

WSJ: Wouldn't your theory suggest that disaster insurance encourages people to live in areas of Florida where, on the margin, they might not otherwise choose to live?
Prescott: These recent hurricanes were not only extraordinarily large and powerful, but also uncommon; that is, hurricanes of this size and severity are infrequent. Clearly, if you are talking about a situation where a natural disaster occurs on a consistent basis, say every three years or so, and impacts the lives of a small group of people over and over, then you are correct -- federal bailouts would fail the time-consistency test. But again, these hurricanes were of such uncommon size and severity that to help out these citizens is good governance.

2. What is moral hazard? And how does it relate to time inconsistency?  
WSJ: Your research suggests that a Keynesian response to economic slowdowns is not good policy. So, was recent government stimulus -- in the form of income-tax cuts and business-investment incentives -- the right response to the U.S. economic slowdown?
Prescott: We should get away from thinking about stimulus policies and worry about long-run growth policies, and when it comes to taxes we should worry about policies from the perspective of their efficiency and distributional consequences. We should use economic theory to design a good tax system, and this means that we should avoid using taxes for social engineering. The purpose of the tax system is to collect needed revenue at the least cost to the people.

3. Why does time inconsistency argue against a Keynesian response?
WSJ: What course should income-tax policy take in the next four years, and how should the mounting federal budget deficit be factored into decisions about tax policy?
Prescott: We should reduce the Social Security tax from 12.4% to 2.4% for those who agree to have 10% of their salary and wage income put into a 401-type retirement account. Individuals would turn these savings into annuity payments at some time subsequent to reaching age 62. With this policy, labor supply would increase, promises to the elderly would be honored, and the young would be made better off. Associated with this change, there would be a period when government debt, relative to gross national income, would increase before decreasing. Currently, privately owned federal government debt, which is the relevant debt, has been flat over the last three years at 28% of gross national income -- the same as in 1940. While it is true that there have been fluctuations in the interim, since 1960 this rate has been essentially level, with modest fluctuations.

4.Why would labor supply increase with a decline in payroll taxes? What would be the effect on total output? 
WSJ: The Bush and Kerry campaigns are debating the merits of allowing the importation of cheaper prescription drugs from Canada, where prices are controlled by the government. U.S. drug companies oppose this proposal. Your research has looked at drug patents. Do your theories offer any insight into the likely effects of such a policy?
Prescott: Honoring promises is essential to good policy. The owners of the drug companies, who include many shareholders accumulating savings for their retirement, should not have their property expropriated without compensation. Now, it would be fine to institute new rules that change the degree of patent protection for new drugs, but note that I said for new drugs. If government does not honor its promises, the time-inconsistency problem will be much greater and the American people will suffer. Any candidate with a plan that does not honor past promises is not fit to serve as president.

WSJ: Do rising oil prices jeopardize the stable inflation outlook that the Fed has fought so hard to create in the past two decades?
Prescott: No. Monetary policy will continue to be such that we will have stable overall prices. Now, that doesn't mean that an increase in oil prices doesn't have a negative impact. A rising price of oil is a negative real shock on the economy and, hence, depresses the economy, but only a little. But we should never confuse a rise in the price of one commodity, even one as important to our economy as oil, with a rise in inflation. Inflation, of course, reflects the collective prices of a basket of goods and is the result of an accommodative monetary policy. An increase in oil prices, as nettlesome as it might be in the short run, should never deter monetary policy from its long-run goal of price stability.

5. Would you characterize Prescott’s view of the relationship between money and inflation as monetarist of institutionalist? Explain your answer. 
WSJ: In 2000 you wrote a paper arguing that the stock market was not overvalued, because the value of corporate equity was roughly equal to the value of productive U.S. assets. Has your view changed since then? What is your view about the valuation of the market today?
Prescott: My views have not changed. The stock market was not overvalued at the beginning of 2000, although it was overvalued by about 15% in March of that year. Currently, according to theory, the stock market is undervalued.

I should note that this theory holds when applied to the U.K. stock market.

The correct valuation of the stock market depends on more than tangible corporate assets such as capital stock, inventories and land. It also depends on intangible assets that do not show up on balance sheets, like patents, brand names, and research and development.

You also have to correct for the consequences of existing tax rates on corporate distributions. In the 1950s and 1960s, tax rates on corporate distributions were high and the value of the stock market low. The tax rate on distributions fell dramatically as the result of the share of stocks held in retirement accounts and as pension-fund reserves dramatically increased.

Write to Jon Hilsenrath at jon.hilsenrath@wsj.com 

ANSWERS TO ARTICLE ANALYSIS QUESTIONS
Refer to chapters 29 and 30 in Colander’s Economics and chapters 13 and 14 in Macroeconomics when answering these questions. Refer to chapters 15, 16, and 30 in McConnell’s Economics and Macroeconomics.

1. Keynesian theories are theories that generally favor activist government policy. They see business fluctuations as problems of the economy that can be addressed by policy. Time inconsistency describes situations in which a long-term policy is abandoned in favor of another plan that might look good in the short run, when in fact the long-term policy remained preferable when viewed in a long-term context. Return to article.
2. Moral hazard is the incentive people have to take on risky behavior if the potential harm of that risky behavior is compensated by insurance.  The relationship between the time inconsistency problem and moral hazard is that government rescuing people who have taken needless risks increases the incidence of risk-taking. But in the short-run after the risk is taken and the damage is done, government is pressured to cover that damage even though in the long-run such a policy creates a moral hazard.  Return to article.

3. Keynesian intervention may be an example of the time-inconsistency problem because if people believe that government will intervene in the market to rid the economy of business cycles, they will not take the necessary measure that would resolve the business cycle without government intervention. What we are left with is government intervention that may harm long-term growth by raising the government debt.  return to the article.
4. By increasing the take-home pay per hour, people would be willing to increase the quantity of labor supplied. The effect would be to raise total output, but not raise growth indefinitely. Return to article.
5. I would characterize his views about the relationship between money and inflation as monetarist. Inflation is a direct result of money supply growth. Thus, his prescriptive response to rising oil prices is for the Fed to do nothing, lest it should raise inflation. An institutionalist would see that the increase in oil prices, if it affects a significant enough portion of the economy, would set in motion a set of responses (such as labor contracts) that would lead to inflation. They would see that the price increases would force government to increase the money supply or cause unemployment. They see inflation as causing money supply growth. Return to article.









